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Practice
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For each graph, write an equation based on the characteristics you’re 100 o f'\
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Day 6:/E:har'acferisﬁcs of Quadratic Functions Continued as well as Even VS. Odd Functions

Warm-Up:
1. Jennais trying to invest money into the stock exchange. After some research she has narrowed it down to two
companies. Company A shows a portfolio value of v(t) = 800 — 28t +0.25t, and Company B shows a portfolio value of % ﬁ
v(t) = 700 - 65t + 0.3t%, where v is the value of the portfolio in hundreds o dollars and t is the time in months. Which ((;‘\'V‘ avy
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Suppose some very “Angry Birds” are attacking some “pigs” in a castle by using a slingshot to
launch themselves at castle walls. Depending on the angle that they are launched at, they will
either shoot long and far or high and short. The data about how each slingshot launches each bird
is listed below: Note, how each data is represented in a different way!!
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1. How “far” will each slingshot launch each bird? If the castle is far away, which slingshot should they use and

why? If the castle is near, which slingshot should they use and why?
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3. If the castle walls are 30 feet tall, which slingshot should you use and why?
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Take a minute to work in small groups with the people around you. Ske

the second pig in this picture.
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Practice: Can you make the bird hit the pigs?
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tch a graph that you think would make you hit
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What do you think the equation to your graph would be?
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Even VS. ODD Functions

Graph each function on your calculator. Use your graph to fill in the chart.
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SUMMARY: The end behavior of a polynomial depends on:
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Additional Notes:
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Let’s determine the equation of a polynomlal based on its graph!
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» A multiplicity that is an ODD number will result in the graph 5 the x-axis. (OC)
» A multiplicity that is an EVEN number will result in the graph _‘—oudf\ l“% the x-axis (ET).
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